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AABC:i-AB.Bczé @

Thorhb, O, @& r=1.

7.3

B P ‘.C

£oT
BP=BR =1
AB=3 BC=41D
AR = AB-BR =2, PC = BC-BP =3
AARI = AAQI, ACQI = ACPI &£ 1)
AQ=AR=2,CQ=CP=3
AEE LD
QR? = AR? + AQ? - 2AR - AQ cos /BAC

:22+22—2-2-2%=1?6
R CIES
EFZER LD
sin ZQPR = % = % (%)

() 3FEHFOEHE D
AP = VAB2 + BP2 = V10

HREDEHLY
AS - AP = AQ?
AS - V10 =4
AS=%\/E

SP=AP—AS=%«/E )
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7.4

B H P U C

SHHBCIZTALMEMORE HETSHE, AABP o ASHP X 1)
AB:SH=BP:HP=AP:SP=5:3

AB=3, BP=14&D

_9 -3
SH—S,HP—5
LoT
9
_SH __SH _5 _1 P
tanzBCS—CH—HP+PC— 1?8 > (&)

B)T2H5BCICFALLEHROEEZU ETLHE
UC=BC-BU=BC-RT=BC-2r=2
)
_TU _ 1

tan /BCT = Uc -2
THY, tan/BCS =tan/BCT £V 35 C, T, SIFF—EHMEIZH 5.
£oT

/RSC = /RST =90° (- RT W) (&)

F7, MEAOEIHRLD

/PSC = /PST = %APIT —45° (%)
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[5] THE A, B, COMNBOELEZNZFNa, b,c b ThH. A+B+C=nThHiHhbH

4sin(r — C)sinC = 1 o 4sin®C=1
0<C<n/’7Zhbn
sinC = %(> 0), cosC = ig

MEMOYEYRETDE, R=240T, FREHLY
¢c=2RsinC = \/5
F72, WS VB THHIELD

%absinCz\/g o ab=43
FGTERLIDY

2 =a®+b*=2abcosC

DT, ¢c= V2, ab=4+3, cosC = ig AT HE

a2+b2:2+2-4\/§-(t§):2112=14, ~10

a, b \ZEREZH» S
a+b>=14

:hmbzfgz%ﬁlbf

(4v3)?
(12
at—14a> +48 = (d®> - 8)(a* - 6) =0

a* + 14

a>07%0D7T

a=2V2, V6
N ()]
a=2V2,b=V6 %721z a= V6, b=2V2
s, KD 3POESIF
2V2, V6, V2 (%)
72, AABC OWEHOFEZ r L35 L
%'(2\5+ V6 + \/§)r=\/§

Lo 2VE G- NE
3V2+ V6 2
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[1] (1) Q 1% APAB OH.LCTh %405
/APQ = %AAPB = 45°

THY, MEAOTEELY
/ABR = /APR = 45°

ZZTC, A BIERTHELENLS, RLYEHTHA.

X 7.1

R

¥72, /QBA = /QBP, /QPB = /ABR =45" 11
/RQB = /PBQ + /BPQ

= /QBA + /ABR

= /QBR
THiHH5, ABQRIZRQ=RB D 2% 3 H(IETH 5.
ZZT, ARAB IEEM 2403 B THLL S, AB=2 L) QR=RB = V2.
T4bb, QIEREZHFLETLHIE V2ZOLMAB LOLTHsL, 72771, MiiA,
BzoZ<. )
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(2) R 5 APAB ONEEMIZH WO T4 D L35 &, DQLRD ThHLH5H
RD’=QR*-QD* . [P=2-7
[>0, O0<r<14&D
[=V2-12 €2))
W2, rdmkERbEE, 3/ eERD, 22T, AHEMNIZLABICETLIO
T, riZ Q5B ABICTALAEROESII—HKT S, ZLT, QIR EH.LE

LTA BzsMNNREZEH<OT, HCORLEO ETLE, rdwmRIZELD
T QMEAMOR LilhHsb L ETHL (X7.2 2.

X 7.2

Qo

R
NP

r=QR-OR=V2-1

£oT, RKOB | OR/ME

P=2-(V2-1?=2V2-1 Lol=A2V2-1 &)
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